SAVITRIBAI PHULE PUNE UNIVERSITY

(Formerly University of Pune)



EXAMINATION OF MARCH/APRIL 2023

MES ABASAHEB GARWARE COLLEGE KARVE ROAD PUNE-04

FIRST YEAR B.A, B.SC, BIOTECH, COMPUTER SCI. & BCA (2019 PATTERN)(CHOICE BASED CREDIT SYSTEM)

Examination of March/April 2023

(Under Faculty of HUMANITIES & SCIENCE: A) Arts & Science MENTAL MORAL & SOCIAL SCIENCES)

INSTRUCTIONS FOR CANDIDATES

• Candidates are required to be present at the examination centre, THIRTY MINUTES before the stipulated time.

· Candidates are forbidden from taking any material into the examination hall that

can be treated as a malpractice.

• Candidates are requested to see the Notice Board at their centre of examination regularly for changes if any that may be notified later in the program.

No request shall be granted for change in time or date for the University

Examination on any ground.

• Candidates are requested to note the Day, Date and Time of Paper.

• Candidates are permitted to use stencils at the time of examination.

• The exchanges of side-rules, drawing instruments of other materials used in the examination hall is not permitted at the time of examination. Candidates must bring their own instruments and will not be allowed to borrow from each other under any circumstances.

• Use of non-programmable battery operated electronic pocket size Calculator is allowed. The exchange of Calculators is not allowed. Electronics Devices

including mobile are not allowed at the time of examination.

The written examination will be conducted in the following order.



MARCH/APRIL 23 Page 1 of 2

DAY & DATE	PAPER CODE	SUBJECT
Friday 09/06/2023	12001	COMPULSORY ENGLISH-II
Tuesday	12021	MARATHI SAHITYA : EKANKIKA & BHASHIK KOUSHALYAVIKAS
13/06/2023	12092	VAIKALPIK HINDI PRASHNPATR-II
Wednesday	12331	OPTIONAL ENGLISH - II
14/06/2023	12301	FUNDAMENTALS OF EDUCATION - II
Thursday 15/06/2023	12151	INDIAN ECONOMIC ENVIRONMENT-II
Friday 16/06/2024	12161	INTRODUCTION TO INDIAN CONSTITUTION-II
Saturday 17/06/2025	12171	EARLY INDIA :POST MAURYAN AGE TO THE RASHTRAKUTAS
Monday 19/06/2026	12201	HUMAN GEOGRAPHY
Tuesday 20/06/2027	12221	(DSC-PSY-1B) INTODUCTION TO SOCIAL PSYCHOLOGY
Wednesday	12361	PROPOSITIONAL LOGIC
21/06/2028	12371	SOCIAL INSTITUTIONS AND CHANGE
Thursday 22/06/2029	12421	THEMES AND ISSUES IN PHILOSOPHY

F.Y.B.A 2019 Credit Pattern (SEMESTER-I)			
DAY & DATE	PAPER CODE	SUBJECT	
Thursday 08/06/2023	11001	COMPULSORY ENGLISH-I	
	11021	MARATHI SAHITYA : KATHA & BHASHIK KOUSHALYAVIKAS	
Friday	11021B	VYAVAHARIK V UPAYOJIT MARATHI BHAG-1	
09/06/2023	11091A	PRAYOJANMULAK HINDI - IA	
Mary Tree	11092	VAIKALPIK HINDI PRASHNPATR - IA	
Tuesday	11331	OPTIONAL ENGLISH - I	
13/06/2024	11301	FUNDAMENTALS OF EDUCATION-I	
Wednesday 14/06/2025	11151	INDIAN ECONOMIC ENVIRONMENT - I	
Thursday	11161	INTRODUCTION TO INDIAN CONSTITUTION	
15/06/2026	11161B	AN INTRO.TO THE CONSTITUTION OF U.S.A.(OPTIONAL)	
Friday 16/06/2027	11171	EARLY INDIA: FROM PREHISTORY TO THE AGE OF MAURYAS	
Saturday 17/06/2028	11201	PHYSICAL GEOGRAPHY	
Monday 19/06/2029	11221	(DSC-PSY-1A) FOUNDATIONS OF PSYCHOLOGY	
Tuesday	11361	TRADITIONAL LOGIC	The Part of the Pa
20/06/2027	11371	INTRODUCTION TO SOCIOLOGY	
Wednesday 21/06/2028	11421	INTRODUCTION TO PHILOSOPHY	

MES. Abesahob Garware Callege

F.Y.B.Sc (SEMESTER-I)		
PAPER CODE	SUBJECT	
12822	VOCATIONAL PAPER -II IMB 122 INDUSTRIAL BIOPROCESSES AND MICROBIAL PRO	
12172	ST-122 DISCRETE PROBABILITY DISTRIBUTIONS	
12192	MB-122 MICROBIAL CULTIVATION AND GROWTH	
12122	PHY-122 ELECTRICITY AND MAGNETISM	
12111	MT-121 ANALYTICAL GEOMETRY	
12151	ZO-121 ANIMAL DIVERSITY II	
12112	MT-122 CALCULUS - II	
12152	ZO-122 CELL BIOLOGY	
12121	PHY-121 HEAT AND THERMODYNAMICS	
12191	MB-121 BACTERIAL CELL AND BIOCHEMISTRY	
12131	CH-201 INORGANIC CHMISTRY	
12132	CH-202 ANALYTICAL CHEMISTRY	
12141	BO-121 PLANT LIFE AND UTILIZATION II	
12221	EL-121 FUNDAMENTALS OF DIGITAL ELECTRONICS	
12142	BO-122 PRINCIPLES OF PLANT SCIENCE	
12222	EL-122 ANALOG AND DIGITAL DEVICE APPLICATION	
12171	ST-121 DESCRIPTIVE STATISTICS II	
12821	VOCATIONAL PAPER -I IMB 121 QUANTITATIVE INDURSTRIAL MICROBIOLOGY	
	12822 12172 12192 12122 12111 12151 12112 12152 12121 12191 12131 12132 12141 12221 12142 12222 12171	

F.Y.B.Sc (SEMESTER-I)		
AY & DATE	PAPER CODE	SUBJECT
Friday	11112	MT-112 CALCULUS-I
09/06/2023	11152	ZO-112 ANIMAL ECOLOGY
Wednesday 14/06/2023	11132	CH-102 ORGANIC CHEMISTRY
Thursday 15/06/2022	11141	BO-111 PLANT LIFE AND UTILIZATION-I
Friday	11121	PHY-111 MECHANICS AND PROPERTIES OF MATTER
16/06/2023	, 11131	CH-101 PHYSICAL CHEMISTRY
Saturday 17/06/2024	11172	ST-112 DISCRETE PROBABILITY

MES. Abasahob Garware College.

Pune-4

9/17	EVD.	
	F.Y.B.Sc	Biotech (SEMESTER-II)
DAY & DATE	PAPER CODE	SUBJECT
Thursday 08/06/2022	BBt-201	FUNDAMENTALS OF CHEMISTRY II
riday 09/06/2023	BBt-202	BIOCHEMISTRY II
Tuesday 13/06/2023	BBt-205	PLANT SCIENCES II
Wednesday 14/06/2023	BBt-206	MT-122 CALCULUS - II
Thursday 15/06/2022	BBt-207	PHY-121 HEAT AND THERMODYNAMICS
riday 16/06/2023	BBt-209	MB-121 BACTERIAL CELL AND BIOCHEMISTRY

20 y

Of Go Principal
MES. Abasahab Garware Caller.

Pune-4

F.Y.B.Sc Computer Science (SEMESTER-I & II)		
DAY & DATE	PAPER CODE	SUBJECT
Thursday	MTC-121	LINEAR ALGEBRA
08/06/2022	MT-C112	DISCRETE MATHEMATICS
Friday 09/06/2023	CS-121	ADVANCED 'C' PROGRAMMING
Tuesday 13/06/2023	CS-122	RELATIONAL DATABASE MANAGEMENT SYSTEMS
	CSST-111	DESCRIPTIVE STATISTICS I
Wednesday 14/06/2023	ELC-121	INSTRUMENTATION SYSTEM
Thursday 15/06/2022	ELC-122	BASICS OF COMPUTER ORGANISATION
Friday 16/06/2023	CSST-121	METHODS OF APPLIED STATISTICS

Pune-4.

Off 9 Principal

MBS. Abasahab Garware College

Pune-4

F.Y.BCA 2019 Credit Pattern (SEMESTER-I & II)		
DAY & DATE	PAPER CODE	SUBJECT
Thursday 08/06/2022	BCA-124	DATABASE MANAGEMENT SYSTEMS – I
Friday 09/06/2023	BCA-122	ADVANCED C PROGRAMMING
Tuesday 13/06/2023	BCA-121	COMPUTER ORGANIZATION
Wednesday 14/06/2023	BCA-123	OPERATING SYSTEMS CONCEPTS
Thursday 15/06/2022	BCA-124	DATABASE MANAGEMENT SYSTEMS – I
Friday 16/06/2023	BCA-111	FUNDAMENTALS OF COMPUTERS
Saturday 17/06/2025	BCA-112	PROBLEM SOLVING AND C PROGRAMMING
Monday 19/06/2026	BCA-113	APPLIED MATHEMATICS

Offo Principal
MES. Abasahab Garware College
Pune-4